Jlomawne 3a0anns

1. Po3B’s3atu piBHAHHS:

B) [4x—1|+|x+2/+2=0,

2. Po3B’s3aTH piBHSAHHA:

a) 2x-3 =7,

3. Po3B’s3aTu piBHSHHS:
a)|[x-2 =2

4. Po3B’s3aTH piBHSIHHS:

a) X* —|x-2=0;

5. Po3B’s3aTH piBHSIHHS:

a) |4x—5—2-x =0;

6. Po3B’s3aTu piBHSHHS:
a) [x+3=x*+Xx—6;

7. Po3B’s13aTH piBHSAHHS:

a) X-|[X+8x—7=0;

8. Po3B’s3aTH piBHAHHS:

x-1

x4

a) x> —2x -3=0;

9. Po3sB’s3aTH piBHSAHHSA:

a) |X|+|x—6/=6;

10. Po3B’s3aTé piBHSHHS:

«Pignanns 3 mooynem»

6) ‘xz —x‘+|2x—2|:0.
6) [x* +5x+6/=2.

6) [|x-1+2/=1.

6) [x* —6|x|+4=1.
6) [x* —x/ =[2x-2,
6) [x* +x—1 =2x-1.

6) X* +4-|x—3-7x+11=0

6) x° +2x+3-@:0.

6) [x—2-33-x+x=0

[4—x|+[x—2 -2
=0.
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